

Ogbonna Justice Nnamaka  
MAT104  
M88F 17/11/2012/286

Find the equation of the (a) Tangent (b) Normal of the following curves  
 $y = 2x^2$   
 at  $(1, 2)$

Soln

$$\frac{dy}{dx} = 4x$$

$$m = \frac{dy}{dx} \Big|_{x=1} = 4(1) = 4$$

$$M_1 = 4$$

Then the equation of the tangent would be using

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 2 + 4 = 4x - 4 + 4$$

$$y + 2 - 4x = 0$$

$$y - 4x = -2$$

The equation of the Normal

$$M_2 M_1 = -1$$

$$M_2 = \frac{-1}{4}$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = \frac{-1}{4}(x - 1)$$

$$y - 2 = \frac{-x + 1}{4}$$

Ogbonna Justice Nnamaka  
MAT104  
M88F 17/11/2012/286

Find the equation of the (a) Tangent (b) Normal of the following curves  
 $y = 2x^2$   
 at  $(1, 2)$

Soln

$$\frac{dy}{dx} = 4x$$

$$m = \frac{dy}{dx} \Big|_{x=1} = 4(1) = 4$$

$$M_1 = 4$$

Then the equation of the tangent would be using

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 2 + 4 = 4x - 4 + 4$$

$$y + 2 - 4x = 0$$

$$y - 4x = -2$$

The equation of the Normal

$$M_2 M_1 = -1$$

$$M_2 = \frac{-1}{4}$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = \frac{-1}{4}(x - 1)$$

$$y - 2 = \frac{-x + 1}{4}$$

2.  $y = 3x^2 - 2x$

at the point (2, 8)

Soln

$$\frac{dy}{dx} = 6x - 2$$

$$m = \left. \frac{dy}{dx} \right|_{x=2} = 6(2) - 2$$

$$= 12 - 2$$

$$m_1 = 10$$

Equation of Tangent

Using

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 8 + 20 = 10x - 20 + 20$$

$$y + 12 - 10x = 0 //$$

Equation for Normal

$$M_2 = -\frac{1}{10} = \frac{-1}{10}$$

$$M_1 = 10$$

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$y - 8 = -\frac{x}{10} + \frac{1}{5}$$

Multiply through by 10

$$10y - 80 = -x + 2$$

$$10y + x = 2 + 80$$

$$10y + x - 82 = 0 //$$

3.  $y = x^3/2$

(-1, -1/2)

Soln

$$\frac{dy}{dx} = \frac{2 \cdot 3x^2}{4} = \frac{3x^2}{2}$$

$$\left. \frac{dy}{dx} \right|_{x=-1} = \frac{3(-1)^2}{2}$$

$$m = \left. \frac{dy}{dx} \right|_{x=-1} = \frac{3(-1)^2}{2}$$

$$= \frac{3}{2}$$

Equation of Tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-1/2) = \frac{3}{2}(x - (-1))$$

$$y + 1/2 = \frac{3x}{2} + \frac{3}{2}$$

$$2y + 1 = 3x + 3$$

$$2y + 1 - 3 - 3x = 0$$

$$2y - 2 - 3x = 0 //$$

Equation of the Normal

$$M_2 = -1 \div \frac{3}{2}$$

$$M_2 = -2/3$$

$$y + 1/2 = -2/3(x + 1)$$

$$y + 1/2 = -\frac{2x}{3} - \frac{2}{3} //$$

THANKS FOR COMING



$$3y + \frac{3}{2} = -2x - 2$$

$$3y + \frac{3}{2} + 2x + 2 = 0$$

$$3y + \frac{3}{2} + 2x = 0 //$$

$$3y + 1 + 4x = 0 // \text{ a.h.s}$$

$$6y + 1 + 4x - 1 = 0$$

$$y = 1 + x - 1 = 0$$

4.

Solu

$$y = 1 - 2x$$

$$\frac{dy}{dx} = -2(-2)$$

$$\frac{dy}{dx} = 4$$

$$m = 1 + 4$$

$$m_2 = 5$$

The equation of the Tangent

$$y - y_1 = m(x - x_1)$$

$$y - 1 = 5(x - 2)$$

$$y - 1 = 5x - 10$$

$$y + 9 = 5x - 9$$

$$y + 5 = 5x - 10$$

$$y + 5 - 10 - 5x = 0$$

$$y - 5x - 5 = 0 //$$

Equation To the Normal

$$m_2 = -\frac{1}{5}$$

$$y + 5 = -\frac{1}{5}(x + 2)$$

$$y + 5 = -\frac{x}{5} - \frac{2}{5}$$

$$5y + 25 = -x - 2$$

$$5y + x + 25 + 2 = 0$$

$$5y + x + 27 = 0 //$$

$$y = \frac{1}{x}$$

$$(8, \frac{1}{8})$$

Solu

$$\frac{dy}{dx} = -1 \cdot x^{-2} = -\frac{1}{x^2}$$

$$\frac{dy}{dx} = -\frac{1}{x^2}$$

$$\frac{dy}{dx} = -\frac{1}{x^2} = -\frac{1}{8^2}$$

$$m = \frac{dy}{dx} \Big|_{x=8} = -\frac{1}{8^2} = -\frac{1}{64}$$

The equation of Tangent

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{8} = -\frac{1}{64}(x - 8)$$

$$y - \frac{1}{8} = -\frac{x}{64} + \frac{1}{8}$$

$$y - \frac{1}{8} + \frac{x}{64} - \frac{1}{8} = 0$$

$$y - 3 = -2x + 3$$

$$y + x - 3 - 3 = 0$$

$$y + x - 6 = 0 //$$

Equation of the Normal

$$m_2 = -1 \times \frac{-1}{-1}$$

$$m_2 = 9$$

$$y - \frac{1}{8} = 9(x - 8)$$

$$y - \frac{1}{8} = 9x - 72$$

$$9y - 1 = 27x - 81$$

$$3y - 27x - 1 + 81 = 0$$

$$3y - 27x + 80 = 0 //$$